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1. SEHAY (3= 243 UNL20NA BHSEEAR

1[1]

ZENE SN2 Z) S 4 /min) =HAW((f/cc) SE e
08 082
#0152 X Z A 240 10.01 0.001 orgr
#0222 KIE A 240 10.00 0.001 ojat
#0352 A Z Al 240 10.00 0.001 a1 2t
#0452 X A A 240 10.00 0.001 02t
#0055 & | 40 10.00 0.002 o1gt
#06P| A & H[ &+ 40 10.00 0.001 ] el
#O7H O =SBt =+ 40 10.00 0.002 o1 gt
082 09
#0012 N3 A 240 10.00 0.001 (n]R<l
#0022 X & Al 240 10.00 0.001 ojet
#0352 X Z Al 240 10.02 0.001 o1gt
#0422 RIS A 240 10.00 0.001 o1t
#0585 0| 40 10.10 0.002 ajet
#oeS 2| 40 10.00 0.002 0l et
#orIM&H 22 40 10.00 0.001 0| gk
#OBHI DI SEt=+ 40 10.00 0.002 olet

*BHE =&E7|F: 0.01f/cc =2
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